1. Identify any intercepts and test for symmetry. Show your work
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2. Write the slope-intercept form of the equa];ion of the line through the given point and

perpendicular to the given line. Show your work.
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3. Write an equation for the function that is described by the given characteristics. Show

your work in each step. (5 points)
The shape of f(z) = +/z, but shifted six units to the left and reflected along the z-axis.
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4. Verify that f and g are inverse functions. Show your work. (5 points)
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5. Identify the vertex, axis of symmetry of the following quadratic function. Then sketch
the graph of the function. Show your work. (8 points)
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6. Perform the operation and write the result in the standard form. Show your work.
(8 points)
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7. (a) State the domain of the function, (b) identify all intercepts, (c) find any vertical and
horizontal asymptotes, and (d) plot additional points as needed to sketch the graph of
the rational function. Show your work. (8 points)
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